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Panel 11

Rpnkcalion of Hakion 2

A baseball is hit 3 feet above ground at 100 feet per second and at an angle of
Pi'4 with respect to the ground. Find the maximum height reached by the
baseball. Will it clear a 10-foot high fence located 300 feet from home base?
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Quiz 4

Suppose (1) = 1:1 ¢} is a vector-vahied function (aka space curve), representing the position of a

particle. Find the followmg:

1. The velocity at P(0.0,0)
2. The speed at F{0,0.0)

3. The acceleration at P00

4. The ynit tangent T(r) at P(0,0,0)
@LI%EI normal vector N(r) at P(0,0,0)
. The bi-normal vector By at Pio,00)
7. The curvature & at #(0.0.0)
8. The tangential component of the acceleration a, at F{0,0.0)
9. The normal component of the acceleration a,, at F{0,0,0)

10. The osculating plane at P{0,0.0)

11. The osculating circle at £(0,0,0)
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